T % R R E P2 o r 3B g R A F P
B0 112516
B2 o Fh 11 @ o [112& 22 REGETIRE) - b2 & N N
Sk EPEEL (m) Eﬂ F B H N ;ﬁﬁ LIRS Hig > (R4 ISR ¥ j‘“% e %
4 P e | iz | oy | BB | g T |En
L BT FreEEm A E A i%?ﬁiﬁ%‘g
B nf /@\ s /@\ . ’ |:125<|:l’_\_’ =}
1| wEe | se0o|emleem|  17400]  591948|ze| s RO RRE | 4 |essa0oni (DL
176358 BU B E SR ) . ‘
4 — if{/g%@ggﬁaﬁ%@@;@
—fe NI j IFK [%51 [7K I’_E: 2
1L L3 I:IIZII:I 7g EEE oA 7 KK E=<%
2| MEER | 1546\ TEKE| 14900 23035 B Zigﬁ N ey =1 UM el B
6543157 TR B O
R EEEmTAMEEHEEE R - B
e e . T s g |, [FrEEETERL280
+/\ EE-EHX 2.89 _:EZ DB /fI%E‘: 13,700 39,593 :I:im EE"-EA‘% f@éﬁﬁit&%@%&&%fiﬁﬂﬂ Dﬁ = 4 n,lz (ngﬁ%iﬁ”%%
2571-3455% 5RO - EETBEH B HE EltGER ) -
3 ¥ O4E ~
HE 052 FreEmETAT EEEE S R -
‘F'_’I:Ilzll:l =18WA] = . ﬁ‘l:li AN Y= /a o /< ol R g
Jrfiﬁ'%k 0.07 22| Z8 " | 10000|  110.854|7e %61%; EBISESHRSLE el 4 ?ﬁoﬁ”ifg?af%
-135h55 e Fif b B (AE S HORE o) -
B HOERN A S A
=Y 446\ 80| ETEE| 10,600 47,276( 5 IRBIBSURSIE | EE 4
e : : : _— T A R R T
. 845-8th55% E‘_g; R |[ETEEES
CE| yoeal =1 FoAe = = A N
TEE TOlE e |roEmEhmEYREEEES
BRIEE | 418\%u|ETE| 10600 44308|diF PROPSIIRRUE B 4
< : : : BE A s RIE R |
845-0t 5% BB EES IFHE

F1H > H4H




~m
W
)
N
P
J4-

t % 7 5+ f bR e A P

B4 W0 112516
ER B | €7 IEEECENTCETTS ® 4 k& NEE
| Epg (ni) | g | Fea ] ¥4 B || T | HE |eras R ik L g f@‘; E %2
% PP e | (s | (=) / 6 | fesiby TlEn
AR E FE40.02 0
BT EIR BT
£95.33md (LAEREHI
B EATTE B
?ﬁﬁj@ RN e 25 341, FaEEmmAEVEEHEER #) o
] SRS IR - AHE 2 ST
5 i L ) AT Z % 4, %i EE H ﬂt{ﬁj% 2N = e e v
ﬁfﬁfﬁé >3 = %Eig 8001 25,584 %) o1 FenE s RmmEn R0 4 A sdERE (
P & HIRAE] ETE(EEE I ORE [FIESOE ) > H
YNGR 333
B A S S8
FeSOHSRITE (
W) Mo
NHE W maEEmTAMEEEES
% SIS G n
6 EES 40.72| 4 = 200 374,624|22% ks IRBIESFRALE S
25%%@% " S e OHIEE] 03 Fre A e ||
- #OH STEHE B HHE
i . FeERETTAMEEEE S il
K sl RIS et - Ry R E R
7| UEER | 44.00| %[ EEE|  45700] 2,014.913|7EkH| ik s M| 4 (2940001 (LB
i ETEHE RS I HE ) .
S — MeEETTEYESEEE
= GBS 6 N
8| AEE 8.79| & | (EEE| 43,60 244 - BEAIRBERSIERALE s
150%%@ o e O 383244 i Ef%(iﬁ Y N Rl v o U e
L A FIEMEEF IR E
K& it TEEETAVEEHEES
— 5% = 5 BFIEES IR E . 112423 HTH SIS
9 — L . AT = 7\:,:[: A‘EE H ﬂ‘f‘,fﬁj% R = o B
77{1 ifgnﬂé e e e Bl e FOR - R A L HACS R TR ™5 Y me-omE
- i O ETEMHEE 1R E

F2H H4H




- S B =i > S B T A S S = P

R # g | €78 1124 22 RiE GERIRLE)| ® R S 152/‘5/16
B 2 PiEE (m) #F T & H N e 9;: @ A A ;al * 4 Bk L kg J™ ;Zt s
5% | (ni/R) (=) i # % %:Bwr%%— T o ;@w\r e
WY
igg ;F gfj oEETNTTAMEEEE S ig;ﬂfgg;f
T EL 61.67 2w seypy| FROEE G EIEES IR E - » BT AR S HIN
s 0% - rre a4 [0 (R
HOH - CHETIEEREHE e g TR
0 o
KR W HaEETTAEERAE
kK BEER 11.00 FEE 2h| IRBIELSUFRE | 4 [LUFLIA18E 5
1400-47 35k = O FanE Bhes rpE s Rl | 1 [7] F% 1402-394th 5%
BB E P
K i HoEmETTAMEEEES HARE9649m1
WIEEE | 16.63| 28|k EE S| e R |BRIEBSLBRAE N B Pt i
484-3H5E Lo TR UNERE Lt T Lol B S ety
ETIEEE LA TR
N e o 2
KRR i meEEmTAMESEEA IR0
MSEEY | 10.00| &% | FEEE zettn| OOBHE PRBIEESLIRALE - et
- N X Vi AYAN i IR KX, ﬁ%% 4 1009m (LXEE%%}EU
1359_3ﬂi75[)(%’ @Eﬁﬁﬁfﬁ ~N= Aﬁi 4% E&&%EEJ?\QU = -
geopedl TR B HORE IR
o B o
7k FEE st foEET A EEEEE
By 63.28 e 72| OO RIS L fRAE -
> n RO N s | 4
16-13155% RS TE fres S #Z |
A 5B (B E
kBRI B HEEETTAMEEEAS HHAEEHL. 27
BEZEE | 2000\ %H|EEE 2| e PRSI I P cisoslil
605K SOk et e U T alad I Gl
FIREEBIIAE g IR

F3H




Lo op g A

—m
W

O
g4 p 8 112/5/16

4R R WA [ | [H2E e mEGERR ] 5 | mi&R NEE
| Epg (ni) | g | Fea ] ¥4 B || T | HE |eras R ik L g | s %2
% PP e | (s | (=) / 6 | fesiby TlEn
- e oyt R T8 761
KRR SRS };E‘ﬁﬁif AMERERA : %%ﬁ%ﬂf%%ﬁ%
16| FEHFEE | 10.625|&#b|(ETEE|  34,900] 370,813|Z%H| HiEE o e Mt 4 (291062500 (LR
7 - TR E A HHE ) . ‘
I HeERETTAMEEEES
SIED P . W | [BOIESSOBEUESEE |
17 3&%&; 28.33| &Hb| (EEE| 36300 LO283T9(FLMA| BROSE | yeoer | Fh |0 O N ey [P 4
Wi BT EFTHHE
Hril& -~ MEEMTTAVEEHES
~ - ~ 2B S (VA 1 TE AR ) 2 +H == ; .y
18| kzzEs | 28.50[1ans|mm| 2013 233737ifRm| om | memm | g |FOVPURBURRIIIE el PREAREIERDS
FENE T ¥ | AN —
368iﬂ_7,nf§ 7301‘13: A=A Hjm\:li E&&% EEEJ
Pt - ETRMEEETHHE
S — HeEENAEEEEG
~ ST EE SO EE | TE B 2 HH == A
19 KZEEZ 19.93|14/15|pg8E1& | 123,000 2.451,390(FfHF| =0% | #Esgis | e ﬁ{f”%o%%l{%?zmm | 4 [REARLARS
FENE T & ¥ | ANz —
371ﬂ:{1n}€ %O? (R =A S E&EZE& EE?EJ
WL a BTEEEFTHHE
HE FeEEmmAEVEEHEAA
L P " e ] ] | |piEAOREIESRE | A B A 7
20 M;ngn}ﬁ 26.00[ 2| EEE|  104,000] 2,704,000| 225 e b B || 4 |
-1 gl BTEMEEFTFHE

aEt THh 228 479.875

FA4H H4H



